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PART A: Vocabulary

Directions: Choose the word or phrase (1), (2), (3), or (4) that best completes the blank. Then mark the
correct choice on your answer sheet.

X 1- That ................ car has none of the features, like power windows and steering, that make modern
cars so great.
1) hazardous 2) aesthetic 3) superficial 4) antiquated
R, 2- With several agencies regulating the reports, it was difficult for the accused to argue against its .........
1) anticipation 2) veracity 3) relevance 4) infamy
W 3- Since Jack did not want a speeding ticket, he tried to ............ the police officer by giving her a
compliment.
1) escape 2) reinforce 3) appease 4) convict
R 4- Trudy studied harder, but there was only ......... improvement in her grades, so she agreed to get a tutor.
1) unbearable 2) monotonous 3) commonplace 4) marginal
®s- Living apes-chimpanzees, gorillas, orangutans, gibbons and siamangs-and humans share a constellation
of ......... that set them apart from other primates.
1) traits 2) disciplines 3) certainties 4) demands

R 6- Have you ever noticed how a coin at the bottom of a swimming pool seems to wobble? This occurs

because the water in the pool bends the path of light ......... from the coin.

1) differentiated 2) reflected 3) recognized 4) generated
& 7- Publicly available Web services (e.g. Google, InfoSeek, Northernlight and AltaVista) ......... various
techniques to speed up and refine their searches.

1) employ 2) determine 3) capture 4) specify
R 8- Owing to the protests of the Dominicans and other regulars, the book was prohibited in 1760, but the
second part was issued ......... in 1768.

1) recklessly 2) profoundly 3) superstitiously 4) meticulously
R 9- While admissions offices do admit many students with similar profiles, a college is still a ......... and
diverse community.

1) heterogeneous 2) anonymous 3) controversial 4) mundane

R 10- Despite the security, the thief's ability to break into the museum without being caught remains an

......... to the police.
1) authorization 2) illusion 3) enigma 4) infection

PART B: Cloze Passage
Directions: Read the following passage and decide which choice (1), (2), (3), or (4) best fits each space. Then
mark the correct choice on your answer sheet.

Thunder is caused by lightning, which is essentially a stream of electrons flowing between or within clouds or
between a cloud and the ground. The air surrounding the electron stream becomes ...(11)... hot -up to 50,000
degrees Fahrenheit -that it forms a resonating tube of partial vacuum ...(12)... the lightning's path. The nearby air

rapidly expands and contracts, ...(13)... the column vibrate like a tubular drumhead ...(14)... a tremendous crack.
As the vibrations gradually die out, the sound echoes and reverberates, generating the rumbling ...(15)... thunder.
We can hear the booms from great distances, 10 or more miles from the lightning that caused them.
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X 11- 1) enough 2) too 3) so 4) very

2 12- 1) and surround 2) that surround 3) surrounds 4) surrounding
R 13- 1) it makes 2) making 3) and making 4) that makes
X\ 14- 1) and producing 2) and produce 3) is produced by 4) produces
¥R 15- 1) which called 2) we call 3) is called 4) it is called

I Read the following passage and decide which choice best fits five numbered space in the text.

PASSAGE 1:

Consideration of the Soil-structure Interaction (SSI or in its more comprehensive form, Soil-Foundation-Structure
Interaction, SFSI), as a (16)......... affecting the dynamic behavior of structures goes back to as early as 1930's.
Pioneer studies in this field were limited to the vibrations of (17)......... foundations and strategic structures such
as reactors and oil tanks. However, providing advanced computing tools as well as new insights into the significant
effects of SFSI on the behavior of (18)......... buildings, today, interaction studies have also found their way in
investigation of these structures. Practically though, one of the interacting substructures (if not both) is overly
simplified in interaction studies, depended on whether the structural or the (19)......... aspects of the response are
desired. Not to forget that this simplification makes parametric studies reasonable. The development of the
(20)......... based earthquake engineering and their increasing application in the design process, the need to
roughly incorporate the SFSI effects has become well understood.

T\ 16- 1) phenomenon 2) occurrence 3) similarity 4) conformity
™ 17- 1) huge 2) machinery 3) sensitive 4) thick

R 18- 1) elevated 2) habitable 3) ordinary 4) prefabricated
T 19- 1) architectural 2) artificial 3) economical 4) geotechnical
T 20- 1) performance 2) perseverance 3) renovation 4) restoration

Directions: Read the following passage and answer the question by choosing the best choice (1), (2), (3), or
(4). Then mark the correct choice on your answer sheet.

PASSAGE 1:

The problem of the selection of earthquake ground motion records is still an interesting area for research. The median
nonlinear response and its dispersion can vary significantly, based on the record selection. Hence the performance
evaluation will be sensitive to the records which are selected. The common codes recommend using three (with
critical actions) or seven (with average actions) design-spectrum-compatible records for the dynamic nonlinear
analysis (e.g. (UBC 97) and (ICBO 2000). However, the structural response based on different selection sets might
still be different by using this approach. This lack of consistency motivated some researchers to propose new methods
for ground motion selection, in order to create a link between the record selection and the structural response. On the
other hand, the use of the real records (beyond using compatible design-spectrum approaches) is not explicitly clear in
the codes. Some bias in the results may arise if spectrum-compatible ground motion records are used. In this section
an attempt has been made to introduce new methodology for the use of real records instead of compatible records. The
methodology is described here in order to predict the three common fractile Incremental Dynamic Analysis (IDA)
curves (i.e. the 16%, 50% and 84% fractiles). It is shown that the proposed methodology can be performed for a
certain selection of Intensity Measure (IM) and Damage Measure (SDM) for a particular structure.

R\ 21- What does fractile mean?
1) Earthquake 2) IDA 3) Percentile 4) Structure response

R 22- How many records are necessary to be chosen based on the common codes?
1) Three or seven 2) Seven 3) Less than 16 4) more than 16
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TR\ 23- Based on the passage, the structural response can fluctuate remarkably based on the ......... .
1) PIDA 2) input motion
3) structural damping 4) common codes recommendation
R\ 24- What does bias mean?
1) Error 2) Approximate solution
3) Exact solution 4) deviation from the real solution

R 25- Which sentence is the aim of the passage?
1) To predict the summarized IDA curves
2) To reduce bias
3) To implement UBC 97 and ICBO 2000
4) To use design spectrum compatible records for the dynamic nonlinear analysis

| In The 5 following questions, choose the answer which best completes technically each individual item:

¥\ 26-In order to fully simulate the earthquake response of an infilled frame, a complex non-linear time-

dependent finite-element ......... analysis would be necessary.

1) dynamic 2) linear 3) non-liner 4) static
R 27- As infill is often made of brittle and relatively weak materials, in strong earthquakes the response of
such a structure will be strongly influenced by the damage sustained by the infill and its ......... degradation
characteristics.

1) alternate 2) behavior 3) response 4) stiffness
& 28- For the satisfactory seismic resistance of prestressed concrete members brittle failure must be
avoided by the creation of sufficient useful ......... .

1) deformation 2) ductility 3) flexibility 4) material

& 29- The design of the beams and column abutting the infill is generally the least satisfactory aspect of
this form of ......... construction.

1) aseismic 2) flexible 3) reasonable 4) separate
R 30- For instance a non-linear analysis using inappropriate ground motion could be much less .........
than a response spectrum analysis using suitable spectra.
1) elastic 2) inelastic 3) realistic 4) sophisticated
obob,
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TR 25- The passage provides sufficient information to answer which of the following questions?
I. Why has the number of college students increased over the seven-year period?
I1. What does the decrease in college entrance-exam scores suggest?
II1. What are the characteristics of the emerging engineers who replace the white male ones?
1) Only II 2) Only 1 3) Only 111 4) I and 111
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